MATH 421.03. ADVANCED CALCULUS FOR
ENGINEERING. SPRING 2014. QUIZ 5

1. (75 points) Solve the wave equation
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9 MATH 421.03. ADVANCED CALCULUS FOR ENGINEERING. SPRING 2014. QUIZ 5
2. (75 points) Solve the heat equation
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subject to the given conditions
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3. (50 points) Using d’Alambert’s formula solve the initial problem for the
wave equation
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1. (75 points) Solve the wave equation
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2. (75 points) Solve the heat equation
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subject to the given conditions
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3. (50 points) Using d’Alambert’s formula solve the initial problem for the
wave equation
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